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PART-1II
senfilOurdudwe / COMPUTER SCIENCE

(s wppb padle aifl / Tamil & English Version )

sre 2emay : 3.00 wenfl Gy | [ Qurgs wiQuekrsar : 70

Time Allowed : 3.00 Hours ] [Maximum Marks : 70

simarsg damss@sd Filurs ufeurd o eTaTHT GTEHLISENE
sfluriggé Qarerere,w. wiEsuudeid Geopulnuder, AdDE
samsrainureriLb 2 Lanqurss Asflelsseb.

leyenrsen : (1)

2 £eon S@eg amuy @wvleea LLEGD TPSIUBDGLD,
<y Carig HeugsH @D Lwetu(Es Caugm@b. LLrhiGar uereusHE
Quéndléd LweTuBEseL.

Check the question paper for fairness of printing. If there is any lack of

Instructions : (1)
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@$ - 1/PART -1

Gy : Qsr@ésuulBerer wrpy elemsafld Bsa)d gnymLw eflaLeamus
CoipEs055E GMIHLe eflen_ulemanyid Caiidg) Gr(psayLd. 15x1=15
Note : Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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L gGr wrdflurar ©iGs werymssmer QswpsapelpE SigIame aflwmes
Slorows smb supsy erdeuny DimpssiL@Lb ?

(1) Pure Qewipsag (<) Impure QWD
(@) Partial Qewhanpy (FF) Dynamic Q&wméap)

The function which will give exact result when same arguments are passed are
called :

(@) Pure functions (b) Impure functions
(c) Partial functions (d) Dynamic functions

2. wmhp delw wywrs Qurmeier Qs auflens :

(1) Derived Data (<) Built in
(§) List (/) Tuple
A sequence of immutable objects is called :

(a) - Derived data (b) Builtin
(c) [List (d) Tuple

3. b5 QensEpeder e pliLsmer Gans@peiar 2 arGar L (HLDSTET eaWTeT
WPy ? |

(1) Public 2 gliLseT (<=y,) Private 2 miliL|&eir

(@) Protected 2 muiyser (/) Secured o Ui &eT

Which of the following members of a class can be handled only from within the class ?
(@) Public members (b) Private members

(c) Protected members (d) Secured members

4. Qpfgpeoptea Qsuddpmean ered Gram® pééu SeraiBaar eranas ?
(<=1) 76y LHYLD @LLb (<) Qewed wHmib Hlevareusid
(8) Hésd wpmd Qarerererey () Gprbd wHMID GLb
Two main measures for the efficiency of an algorithm are :
(a) Data and space (b) Processor and memory

(c) Complexity and capacity (d) Time and space
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IDLE -&r aflfley :

(<) Integrated Design Learning Environment
(<) Insert Development Learning Environment
(@) Integrated Develop Learning Environment
(

) Integrated Development Learning Environment
Expand IDLE :
(@) Integrated Design Learning Environment
(b) Insert Development Learning Environment
(©) Integrated Develop Learning Environment
(d) Integrated Development Learning Environment

Ylemeu(mid Ghlpenufer QeuafluSE eremar ?
for i in range(2,10,2):

print(i,end="")
(=1)8642 (<4)2 4 6 8 10

(@) 2468 () 246
What is the output of the following snippet ?

for i in range(2,10,2):

print(i,end="")

@ 8642 (b) 246810
(c) 2468 (d 246

Qénaumid Qewpaperp wHISH Qsiig igd Qaallii oL apss.
x=14.4

print(math.floor(x))

(=1) 13 (<) 14 | (@) 15 () 14.3
Evaluate the following function and write the output.

x=14.4

print(math.floor(x))

(@ 13 (b) 14 (¢ 15 (d) 14.3
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Waramid @Mymésran Qaualul@ wirg ?
str="NEW DELHI”

str[3]="-"

(<) NEW-DELHI (<24) NE-DELHI
(@) NEW DELHI () NEW-ELHI
What will be the output of the following code ?
str="NEW DELHI"

str[3]="-"
(a) NEW-DELHI (b) NE-DELHI
() NEW DELHI (d) NEW-ELHI

euggmen Dictionary -& HpeCaraser eraamme eRudLiuBdlemer.

(1) ; ()= (&) : (r) +
The keys in Python dictionary is specified by :
@ b) = (€ (d) +

QangEw emuiyser ps Qewun@hluden apab Samsiu@Eng ?

(=1) - (=) & (&) % (/) #
Class members are accessed through which operator ?
(@ . (b) & © % (d) #

SELECT &ahmid@ Lweru@n Seneard 6rg) ?

(1) Q ()0 (@) = (r) X
What symbol is used for SELECT statement ?
(@) Q (b) o () = (d) x
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12.

13.

14.

15.

SiLLauamanenu fés uwetu®s Couatriql SLL e

(<1) DROP (<) ALTER TABLE
(@) DELETE () DELETE ALL
The command to delete a table is :

(A DROP (b) ALTER TABLE
(c) DELETE (d) DELETE ALL

CSV Gamiiuneng) 9 eneu(melareupmieT ereueurn ienpdsiLperarg) ?

(<) Random File (<=y,) String File
(&) 3D File (/) Flat File

A CSV file is also known as a :

(a) Random File (b) String File
(c) 3DFile (d) FlatFile

suggmen wHmd C++ HlFosemar QoL pslLPSseISHSTE SO :
(=) Ctypes . (<) Boost (@) SWIG () Cython

A framework for interfacing Python and C++ is :

(a) Ctypes (b) Boost (c) SWIG (d) Cython

1Demeumeuaneupled erg @l eamésLLL gra|seflen AFTEILTELD ?

(1) udleysar (<) BB

(@) DBMS () BreysseTd
Which of the following is an organized collection of data ?
(a) Records (b) Information
(c) DBMS (d) Database
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L@ - I1 / PART - II

GOy : aCsmib gy oanrés@nes oL welsseyb. eflam eram 24 -&(8

SL_LMULONS G‘EIGBL_I_]_IGTﬂé;a;Q‘*Lb. 6x2=12
Note : Answer any six questions. Question No. 24 is compulsory.
16.  Pair ereampred erenen ? THSSIGHTLD (5.

17,

18.

19.

20.

21,

22,

23.

What is a Pair ? Give an example.

Namespaces i @GP euenys.

What do you mean by Namespaces ?

Amdlpenm eremmmed eremer ?
What is an Algorithm ?

range() Qewhamm GHUY cuers.

Write note on range() in loop.

SQL sl Levaraetlen Qurglidflesenar erpgis.

Write categories of SQL commands.

eflfleuréad sms () SWIG (i) MinGW
Write the expansion of : (i) SWIG (i) MinGW

Lesens “INTEGER PRIMARY KEY” eran yfleflliugen heneno eremen ?
What is the advantage of declaring a column as “INTEGER PRIMARY KEY” ?

gre| sTLALLGHSSISD euamsmu UL igwa(s.
List the general types of data visualization.
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&Gy Qar@éstiuc Gerer ®usgren Hyeflen QeualuS® wrrgy 2
str="COMPUTER SCIENCE”

(<1) print(str2) (<) print(str[0 : 7))
What will be the output of the given Python program ?
str="COMPUTER SCIENCE”

(a) print(str*2) (b)  print(stz[0 : 7))

U@$ - III / PART - I1I
GO : aCseun syp clamésEnse e walsseb. e aar 33 -5@
Sewmquuns of e wefasay.

6x3=18
Note :

Answer any six questions. Question No. 33 is compulsory.
pure LOMID impure Qewpaahenm Caunupsss.
Differentiate pure and impure function.

25,

26.  Asymptotic GfuI® - @il cuenrs.

Write a note on Asymptotic notation.

27.  @ww dewupEhew a@szssm_ G TGS

Explain Ternary operator with example.

28. s0&PDE eréueurny QewdLGEDS ?

How recursive function works ?

29. Gemaumid GHpernulen QeueuSE) ereman ?

list=[3**x for x in range(5)]

print(list)

What will be the output of the following code ?
list=[3**x for x in range(5)]

print(list)
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0. QL -@ sd@ar TCL alLaseear upd m @iy euenys.

Write short notes on TCL commands in SQL.

31 reader() wHmd DictReader() Gewpsaphler Coumur® ereer ?

What is the difference between reader() and DictReader() function ?

32.  fetchone() wHmb fetchmany() GeupuBégis.

Mention the difference between fetchone() and fetchmany().

33. Qemeumd Hyedlen QeualluS® eremen ?
class Hosting:
def__init__(self,name):
self. _name=name
def display(self):
print(“Welcome to”,self.__name)
obj=Hosting(“Python Programming”)

obj.display()

Write the output of the following program.
class Hosting:
def__init__(self,name):
self.__name=name
def display(self):
print(“Welcome to”,self.__name)
obj=Hosting(“Python Programming”)
obj.display()
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UGS - IV / PART - IV

FEEGD el weflssayb. 5x5=25
the questions.

GBIy - VNS clanms;
Note : Answer a]|
3. (@) auflens - |

Yo CsLa A permenws THSHEEM_DLen eleundéseyL.

9|6060G)
) Bswpanysear TR&gIEsM_HLen efleufldEsayi.
Search algorithm with example.
OR

functions with example.

(<) input() OHMLD print(
(@) Discuss about Linear

(b)  Explain input() and print()

35. (=) (i 58 oL 55 @)L
(1) () SIDIGE| epaTy Qeds B oL ILmL ramsmaT GeuafilBeuspamen

Hlrena T(LDGI5.
(i) !‘g]:hm(_"D'-b Hreié@ QeuallusE (8.
1=
while(i<=6):
for j in range(1, i):
print(j, end="\t)
print(end="\n")

i+=1
S0V
() Gemaumid 2 drellmans Qswpsmpsmer 6larsss.
@) id() ()  chr() (iif)  round()
(v) type() (v) pow()

(@) () Write a program to display all 3 digit even numbers.
(i) ~Write the output for the following program.
i=1
while(i<=6):
for j in range(1,i):
print(j, end="\t)
print(end="\n")
i+=1 |
OR
(b) Explain the following built-in functions :
@ id() () chr() (i) round()
(iv) type() (v) pow()
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(<) Aereugmiy DUSSTE 51 L eersaler Qeuelusi enL GT (LG5
stri="Welcome to Python"
() print(str1)
()  print(strl[11 : 17])
(iii)  print(str1[11 : 17 : 2)
(iv)  print(str1[: : 4])

(V) print(strl]: : —4))
SV6V )
() @ussrafled oy&8 wHnWL AfUGsmer eraucurn euenFUMLILITL ?
TOsgIssT HLen eNeuflsseyb.
(@) Write the output for the following Python commands :
str1="Welcome to Python"
(i)  print(strl)
(i) print(strl[11 : 17])
(i) print(str1[11 : 17 : 2])
(iv) print(strlf; : 4])
(v) print(strl]: : —4])
OR

(b) How to define constructor and destructor in Python ? Explain with example.

(o) oussralgieter LOGeumy set Qewdur@amer QU @SS wrar
T(h&&EHTL_(HE@HL6 6llendEs.
LNV
(<) DBMS wpmitb RDBMS Gaupiui(hés)s.
(a) Explain the different set operations supported by Python with suitable example.
OR
(b) Differentiate DBMS and RDBMS.
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() vefwrare@ées TCs@Ib @HE Lomsms Qaram @it SILL e
LMHAUNES @ SQL sapilever eT(pdl, 9pg uenflwmrart 9L cuenemé(G
P Sl Lamear sLOUUTL®L 2 (HeursEaD.
SVEVF)
() C++ By euggrer uamysammsemer LHH 6T(PSIS.

(@) Write a SQL statement to create a table for employee having any five fields and
Create a table constraint for the employee table.

OR
(b) Write the features of Python over C++,

-000-
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